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1. The wheels of a car turn at a rate of % rev/sec when the car is traveling at 80 ft/sec.
What is the diameter of the wheel? (5 pts)

2. The accompanying figure consists of a semi-circle and a right triangle. Find the area of
the figure when r = 5 (Figure Not Drawn to Scale). (8 pts)



3. Sketch the graphs of the following functions over at least 2 periods. Be sure to label at
least 2 points on your graph. (6 pts each)

a. y=1-—3sin (2x)

b. y= |cos (nx —%)|

c. y =tan(—x)



4. Verify the following identities: (6 pts each)

COSX CcoSx
= 2secx

1+sinx 1-sinx

CcotA cosA

= sinA
csc2(A)-1

5. Evaluate the following (4 pts each)

-1 51T
a. CoS COS?

b. arcsin(1)

c. cos (sin—l (- \irz))



6. Given 6 = sin™? (g), find cos(@) exactly. (5 pts)

7. Below is the fourth quadrant of the unit circle. For all angles shown (as well as the x-
axis and the y-axis, label the following:
a. The angle measurements in degrees (5 pts)
b. The angle measurements in radians (5 pts)
c. The coordinates of the points on the circle. (5pts)




8. Find the exact value of the following: (5 pts each)

5
a. tan (—n)
12

b. cos (4—n) cos (S—E) + sin (3—n) sin (4—”)
5 10 10 5

c. sin(165°)

9. Ifsec(t) =— Z with sin(t) > 0 and cos(r) = %with tan(r) < 0, find the following: (5
pts each)

a. sin(r+t)

b. cos(r —t)





Donivyn C Schmidt


